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SERXI=8 A HRER
Ao oged Iedst
NS & A

A RA B C9I(S) - MSAY - BES Ol &t = HIDE
OJEANEEX ARFT (LM S)
3,000,000 14| 3,000
202 4t 12,000 6,000 6,000
01 2LH0i| 2,000 6.000 6,000
OBEHFHR YRET ot
20,0002 x4 *1502] 12,000
207 AT 400,000 400,000
NEEEET 400,000 400,000
OJlslgEST S M+ B
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OAEHEEHA 24
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20,0002 +32*1803] 10,800
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O=HER 28 T2
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O=Ng2 28 ez (AHIFIH
1,584,000,000& » 14 1,584,000
Osl==il dd= 382,000,000 » 14 382,000
= 191,000
Al 191,000
O3tERX FAS(AIHIFIH
2,132,000,0003 14! 2,132,000
dY=IZHI(ereF ) 36,992 38,076 21,084
=34 36,992 38,076 A1,084
JlEZl 36,992 38,076 A1,084
201 LBt=H| 23,192 23,076 116
01 AtR2t2[H] 23,192 23,076 116
Oggt=2H| 13,400
CHBAREE 2y
300,000+ 12 3,600
SARII ARE Pl
400,000 * 128 4,800
chRRER 20,0002 45128 960
o¥=J| Hel =58 70,0002 * 128 840
oAnE EAFYH 100,000 «12& 1,200
=J|Et=EH| 2,000,000 14| 2,000
O=gl 9,792
Sol=ge 48 S|
8,000&*17H 6~ 123 9,792
202 04| 10,200 12,000 41,800
01 SLHOIH 10,200 12,000 21,800
O=UWoHl 10,200
=J|lE2g? =8 ol
100,000 x17H+63] 10,200
203 BFF=LHI 3,600 3,000 600
M RPA2SLRF2 3,600 3,000 600
OFANE2EERFAY| 300,000« 12& 3,600
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03 A= HR=AY| 1,600 2,000 2400
OAlI S =X 1,600,000 %14 1,600
ITS MAIS=2l BAE AlE &5 10,006,000 0 10,006,000
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OITS MIAIZS tHal2d HE A
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ITS Al 2 dH| 6,000 6,000
202 Ot 6,000 6,000
01 =LHOIH 6,000 6,000
OITS AlE &% 04H|
100,000 x32& »203 6,000
Nse wnsSHA 2= 1,586,197 6,704,000 25,117,803
DlnS=elE A 1,586,197 6,704,000 25,117,803
401 AIZHIZ S0 1,586,197 6,704,000 25,117,803
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1,486,197,000& » 14! 1,486,197
02 Zeldl 100,000 90,000 10,000
OUIADESBHE AL
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= 400,000
Al 400,000
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= 800,000
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Al 400,000
201 Zet=EH| 1,600,000 1,000,000 600,000
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3,300,000& 123 39,600
oITSAEE ®II2
52,0003 %313 £+ 12 195,312
oITSAdE S4B
82,5003 « 1574 Ax 12 14,850
cDENSHO PHY SUE
9,800& *336H ~* 123 39,514
CASUBAAY BIHE
82,5003 x260 2+ 12 25,740
OXlsg uWsSHA 28 & =Al2e
900,000,000 *14] 900,000
202 O4H| 6,000 6,000
01 =LH0AH 6,000 6,000
OXlsg nsSHAH 24 L= 0l
20,0002 x38 1002 6,000
401 Al HIZ S THYI 30,000 100,000 A70,000
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=234 37,050 40,650 £3,600
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201 eet=23 | 22,800 26,400 £3,600
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Oggt=ZH| 14,160
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